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1. QC Stands for

2. Adata dictionary ¢y, be helpfil gy, il.l
1

3
False] Proving cone:
v BISICNCY of o0 -
3. Whatis informggjey, System? €7y Y OF software, [True /
© 5
olain ¢ T I o
E)\I).laln ; csp'clmmbllltlcs of SYStC“{gt@alyst. 5
Write a detail note op SDLC., N ,J»! 2
O or N 5
oy Q
Answer the following; ) —
i - 3
1. QA stands for <C ?(
2 MIS stands for _— ——H—0 . Y
3. What is sub-system?
Difference: Decision Tree vs. Decision Table )
Write a detail note on various factfinding techniques, o) 5
© ©
Answer the following; g % 3
. ) N , N
1. Which testi ng strategy focusds-on individual units of software? N~
2. What is Bug? . —

- State transition testing is pcr@ned inblack box testing, [True / I-‘alscb
Difference: Static Testing vs. Dynamic Testing :fJ 2
Explain wh; ¢ testing fechnique. ; 5

Plain white box softwar Bilc OR X

3
Answer (he following;
L Integration testing is also known as - e

- Load testing is not part of non-functional testing. [True / False]

- tis grey box testing? )

ifference; Fault vs. Failure in terms of soflwarc. ;

rite note on various Testing Artifacts. 2
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Q.3(A)  Answer the following:
e [True / False
1. Shareware does not cost anything. [True /1 |
2. ZAD stands for LIV
3. Whatis Big H.m" M()(ILI’

. 2
Q.3(B)  List out various stages of Waterfall Model. | :
Q. 3 (C) Write note on Tterative Model. (’ '
by OR >’
U 3 O <4
< o)y 3
Q. 2'(\r\) Answer the following: o
N (N : tanti &Y
™~ 1. Selenium framework primarilyj-uscd for testing web applications. [Tru':ff‘;
= False] T
- 2. What is prototype in plolotypmg> s model? __,
=) 3. Which SDLC model also mcludcs risk management ? oF
Q.gﬂ) Difference : Freeware vs. Sharc:\\ialc i 2
Q.3(C)  Write note on V-Model. o .
{
Q4 (A) Answer the following: :
» I. LOCstands for _____interms of project estimation technique. )
@ 2. What is Optimistic Time? gfj 0
3. CPM stands for <f. ~
. Y ) {41
Q. 4\(,13) Explain Task Network SchedM1n§Method. TN -
Q. g) Write a detail note on COCOMO gigodel.OR -
g R Y
Q.Q‘A) Answer the following: Q Q 3
. < <
Yy 1. GANTT chart is also known; nd
2. What is critical path in task networking?
3. WBS stands for
Q4 (B) Explain FP project estimation technique. 2
Q.4 (C)  Write detail note on PERT chart. 5
: 2 o {
. O 3
Q.g«\) Answer the following: «g% ;3% 3
@)
N 1. List out features of UML, N 0N
'C\S 2. Activity diagram is primarilyused to define relationship of entities. [True /
- False] ‘g -
© 3. CADstands for = P
Q 5<{B) Explain Use case diagram. ? 2 2
<3,
Q.é}_C) Write detail note MS - Visio. e - Yy 5
Q.5(A) Answer the following: 3
1. UML stands for .
2. What is stencil in MS - Visio?
3. What is activity diagram in UML?
Q.5 (B) Explainclass diagram. ' 2
Q.5 (C) Write detail note MS - Project. 5
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